Pernctpauna ot4yeTta B bll
3.0

OyHKunsa CBeneHnaOBHelwHenObpaboTke() dkcnopT

PerncrtpaunoHHblieJaHHble = HoBbin CTpyKTypa();
PernctpaunoHHblieJaHHble.BcTaBnTh(“HanmeHoBaHume”, “OT4eT ‘Xxx'");

PernctpaunoHHblieJaHHble.BcTaBnTh(“be3onacHbinPexxmum”, J1oXKb);

(-
PernctpaunoHHblieJaHHble.BcTaBuTh(“Bepcua”, “x.xx");
PernctpaunoHHblieJaHHble.BcTaBnTh(“NHopmauma”, “OTyeT ‘Xxx");
PernctpaunoHHblielaHHble.BcTaBuTb(“Bug”, “AononHnTensHbInOTYeT”);
T3 = HoBbit Tabnnua3HavyeHnn;

T3.KonoHkn.lobasntb(“NaoeHTudunkatop”);
T3.KonoHkn.Jobasnth(“Nicnonb3oBaHne”);

T3.KonoHkun.[lobasnTh(“MpencraBneHne”);
HoeasiCTpoka = 13.[J06aBnTh();
HoeasCtpoka.geHTudunkaTop = “OTKpbiTbO6paboTKy”;
HosaaCTtpoka.Ucnonb3oBaHne = “OTKpbITE®OPMbI”;
HosasaCTtpoka.llpenctasneHue = “O1yeT ‘XXX';
PernctpaunoHHblieJaHHble.BcTaBnTb(“KomMaHabl”, T3);
Bo3BpaT PeructpaunoHHbleJaHHbIE;
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